10th Trigonometry Identities
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(1+tan * &)1 —sin &)1+ cos &

. Simplify:
Evaluate: (snau:2 8- 1)(1— cosec )

4fsin * 30° 4+ cos* 60° )— 2 [sin? 60° — cos? 45° )+ ~sin ? 60°
. Evaluate: 3 2

2 (cos* 30° — sin * 45° ) 3{sin ? 60° — sec? 45° )+ ~cot 307
. Evaluate: 4

Prove the following indentities
sin & =cosec+cotd
1-cos

tan &+ sin E_ seu::15'+1_ 14+cosd
tan @—sin & secd-1 l-cosd
1-cos@
14+cosd

1 1 1
1+ 1+ -
[ tanf*ﬂ][ cot? E] sin *@—sint @

(sin & +cosec)” +(cos& +secd® =7 +tan” F+cot’ &

= (cosecf —cot 15')2

. sect@—sec?f=tan ' O+tan  F =sec? B tan’ &

2 —_—

cot&@—tan 8 = M

sin Bcos
1—an E'+ cos.ﬁ' C Deecl

cosdd 1—zmn &
sec? @+cosec d =sec? 8 cosec’d
I+cosd = [cosecﬂ+cot5)2
1-cosd
1+s#1 d = (sec &+ tan 5)2
1—smn &
(cosecd —sin Glsecf—cosl)= _
tan &+ cot &

sinf—2sin’ 8

Sros @-cos 8

tan &

Seect B—sect - Zcoseci@4cosert@=cott B—tant B



20.
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cos s &
+

=gn H+cosd
19 1-tand 1-cotd
sin & sin &
=24
cot@+cosecf cot@—cosec
s & +1+COSE=2EOS€CE
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35.

14+cozd sin &

(st & + sec 5)2 +(cos @+cosec E‘:l2 = (1+secfcosec .E':l2

2 3
cos” 8 _ sin_ 6 =14+an &cosd
1—-tan & sin &—cosd
smE—cosE+smE+cosﬁ'_ 2

sin @+cosd  sinf—cosf 2sin’ -1
sin @+1-cosf  1-sm &
cosf—14:mm & cos &

(1—sin & +cosd)? = 2(1+cos &)(1—sin &)

l+cosd 1- &
J £ +l[ cos =Zcosecd

l-coz & 14+coz 8
Tra —
\’ SI,IIE+J1 S].IIE=25E:CE
1—smn & 145 &
g-1 g+1
JSEE +JSEC =Z2cosecd
sec&+1 e —1
1 B 11 B 1
cosdgcf4tcotf sind sn & cosecB-—cotAd

tan & + cot &
l—cotd 1-tand

=1l4+tan &+ cotd

cog A sin ® A

1—tanf1_ cosd—sem A

=z A+cosd

l+cosf—sin’d

: =cot &

sin {1+ cos &)

cosecsd cosecd o otan? A
cosacd—1 cosecd+1

. _ i _
80 B+cosf= ,\E cos(90° — &), determine Cot &
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36, If cos@+cosf=2cos 8, Show taht Co8 @ —sin & =+/2zin &

n 8= —gin 8 = 3_ 2 _
lftan5+smﬂ m and tan & —sin & e cpowthat P — 7 = dafmn

37.

38, If sih 84+cosf = p and sec8+cosecl =g Show that g(p* -11=2p
Ssin —3cosd

39. If Stan & =, find the value of 25 & +2cos &
Scos8—2sm 8

40. If Scotf=4, find the value of 2c0s&+3sm &

COS £ COS &
= i ard — =n, . . 4 4
a1 1 £os 8 sin A show that (e +ncos” A=n
b = - _ 3 p2_ 2 4
42.cz|:055' han 8 =xand aan 8+hcozd Y+ orove that & +&5% =x"+y
1
sec = x4+ —, sec@+tan & = Zxor —
43. If 4x prove that 2x
_ _ I R B
44.”;{—psecﬂ+qtanﬂ andy—ptanﬂ+qsec5,provethatx y¥i=p—g

45.|fsinﬂ+singﬂ=l tc@sjﬂ+cos45=1

prove tha



